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Lecture No. 23
Multi-Terminal Lines

Welcome to NPTEL course on Power System Protection. Today we will continue with distance

relaying on multi-terminal lines.
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CONCEPTS COVERED

Lecture 23 Multi-terminal Lines

* Multi-terminal Lines- infeed issue

* Distance Relay settings and performance

This lecture is on the issues with multi-terminal lines, the protection issues, and how the distance

relay performs in such a configuration, we will see.
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Multi-terminal lines

Transmission lines may be tapped to provide:
+ Intermediate connection to load and generating unit-economical
+ No need of a separate substation and associated equipment

Protection

Protection system should be designed carefully when:

+ Multi-terminal lines have source behind the tap poirfts or grounded neutral wye-
delta transformer

+ Trip all terminals simultaneously for any internal fault at any location on the line

with any expected distribution of current contributions.

In, last lectures we discuss about two-terminal lines having multiple circuits. We discussed on the
double circuit line, otherwise called parallel line also. But that, such a system can be also, we will
find with having more number of parallel lines, quad circuits and so having 4 parallel lines also.
So, we discuss on the zero sequence mutually impedance aspect with further discussing on that
perspective on different configurations in transmission system this lecture is on multi-terminal

lines.

If you see this, we have a 3-terminal configuration here. But such terminals can be more in number
also. But in power systems, in the multi-terminal configuration, 3-terminal lines are more common.
In such a situation it has economical advantage as at the tap point we do not need any substation
or the associated equipment. So, whenever a load center or the generating point comes out, instead
of connecting this, say this this center directly having a different line to the end bus, which requires
right of way and so, this L bus can be connected to a nearby line and which can dispatch power to

the N side or any other side.

So, this advantage leads to the existence of the need of multi-terminal lines but it has operational
and also these protection setting issues. So, we will discuss on the protection perspective. Now,
what happens when you have a source or a star-grounded delta transformer connected here then,

in any case, a fault happens to be any of the three sections here, all the three sources participate in



that fault say fault will be here, so this generator participates, so also these, and so also the N side

generator participates in that fault.

So, that leads to a different scenario on apparent impedance seen by the distance relay, and so with
the associated protection issues. And note here that, anywhere in these 3 sections a fault happens
to be there, then all the 3 breakers associated all the 3 buses must trip otherwise the fault will be
felt from the untripped circuit breaker side. So, that is what the basic need of protection we will
see the problem and, the issues, and then we will go to the different setting perspective for distance

relay.
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Multi-terminal lines

Analysis For Distance Relay at M Zip
% % | %z F % L@
For 3-phase fault beyond P: > P é |
Ry

Voltage at bus M can be written as, Vyy = Zyyplyy + Zypr (i + 1yy)

.
Y . v v, I

Apparent impedance seen by relay Ry is, Zgp, = I‘—” = I“_“’ = ( 1+ ,l)
W M Iim

Note: Apparent impedance seen by the relay is different -
the actual impedance to the fault from relay: Z,yp + Z;p¢

So, this is the 3-terminal line and we have the tap position P where a source is being connected to,
bus L, we have MN line, we are observing the relay at Rm. Similarly, you can consider the relay
at L and N also. These line sections have their impedances P the tap point. So, impedance between
M and P is Zwp, impedance between P and N is, F being a fault point here, (Zpr + Zrn), and
impedance from P to L is Z.p. They have their associated positive sequence impedance, negative

sequence impedance, and zero sequence impedance for each line section.

For easy assessment, we consider that each line section is having same conductor. There were and
the tower structure, thereby, the per kilometer impedances remain the same. Now, let us consider
this distance relay data, the R, distance relay at bus M, we considered first 3-phase fault in the

line, let us consider a 3-phase fault at F. So in the section P to N and how this relay at M sees.



Voltage at bus M will be this corresponding drop from here till P and from P to M. So we say if
we consider the positive sequence current which is the only component of current flows during the

3-phase fault.

So we say that the corresponding current in this part, ZPF part, if we see from this side current
from bus M flows and also current from bus L flows. So, these two generator participate feeding
current through these path. So, the common path is P to F, and from P to M for relay Rwm is only
the Im current flows. This Im current is the current through the relay Rm but from P to F, the
corresponding current becomes (Im +I.), the IL component of current is not associated with the

relay Rwm.

So with that difference, if we see the drop from F to P, from the 3-phase. So, that becomes equals
to Vim =Zimp .lim + Zipr (Iim + 110 ). So, that is the voltage of the Vim for the 3-phase fault. But
we know that the positive sequence voltage and current is same as the phase component of voltage
and current also for each phase. The apparent impedance seen by relay RM for this 3-phase fault

equals to Vim/lim = Vam/lam as you know.

So that equals to, if we divide, you can see that this Iim here or the same as Iw, so that becomes
Vv -
Vi _Van _ Zive +Zpe 1+ IA) . We are dividing by 11M but we have a term now, I1L.
IlM aM IlM
But the fault point from the relay bus the positive sequence impedance between these two points
is (Zwvp + Z1pr). So, the actual positive sequence impedance up to the fault point from the relay
bus is ( Zivmp +Z1pr ). But what the relay will see now in this scenario, because of these I, current,
. |
wewill see Z, =27, 0 +Zpe (1+—=5).
M
So these ratio difference, the additional term, the Zipr ( 11 / I1m ) is the additional component in
the apparent impedance calculation. So, that is the difference we notice from the actual impedance,
positive sequence impedance up to fault point versus the apparent impedance seen by the relay for

the three-phase fault case.
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For phase-a-to-ground (ag) fault beyond P: Relay Ry,
Var=Yarr +Vazr+Vaor=0
Vaw = Varw + Vaaw + Vaou

= Varr + (laam + Lari)Zspr + laauZynp)
+ (Vazr + (laay + Lo )?m’ + Ia.’.l{?ZMP)
+ (Vaor + (aow + Laor)Zopr + laowZom)

= (Zwp + Zipedlaru*Zawp + Zape)laaw + Zowp + Zopr)laon
HanZipr + laanZaprao Zopr

= (Zywp + Zypr)laam + laaw + laow)-(Zawp + Zipe)laow
HZowp + Zopr)laow + Zapr(laae + lazt + laor) = Zyprlaor*aor Zopr

= awp + Zypr)Uam + Kolaow)* Zype (T + Kolaor)

e _ [Zomn = Ziun
where Ky = (—

ZuN

m impedance: 2

wy and z,

Now we will see for the same system, same fault point, we will see now the what happens for the
phase a to ground fault, its analysis. We know for phase a to ground fault, the fault point voltage

Ve =Var +Var +Voor =0. Now, we see here, this Vawm, the relay bus voltage during the line to

ground fault will be available from this calculation related to this sequence component analysis.

So, what we see here that we have these 3 components V,,, =V, +Vaom +Vaoum » Similar to what

we have analyzed in earlier discussions also. So, if you see this Vauw, this is the corresponding
sequence network for this system, if you see here, you can see that for this fault, for this relay, the
corresponding current in the PF section is contributed where these two generators, so they are in

parallel.

So, what we have done here, this should be fault point to the left, this is the section here common
section from bus P, and then consider the two parallel parts contributed by the two sources, the
sources at M and L. And then, like these, this is for positive sequence this negative sequence, this
is for 0 sequence, and this is the fault point, so we connect it for Rr equals to O like this and that

you can see that is our, the sequence network diagram for the phase a to ground fault.

Now, to evaluate Vam, Vy,, =V,

a

il 1) Ziee + 1w Zowe - SO, this is for positive sequence.

Similarly, for the negative sequence also, diagram is same. So, you have to consider similar terms



for the negative sequence component and also for zero sequence component. This is being phase

a to ground fault, so all 3 components will be there.

What we see as compared to the earlier two-terminal derivation that we add another current now,
for the Z1pr portion, the common portions where the both current, both currents flow laii ,la2L and
loL , the 0 sequence component and their associated impedance. Now, if you segregate the different

components like we did for a two-terminal line, so we have 1,,,, (Z,» +Z,p) that is this portion

of impedance, positive sequence impedance. For l2v also negative sequence contributed with
passing through the relay bus. This current for the line, this corresponding impedance, negative

sequence plus zero sequence impedance also, laom.

Now, we have another three-term associated with these. 1, Z,oc + 1,5, Z,pr + 1,9, Zopr - NOW foOr

these three-term, this is same as what we have discussed earlier. So, we can do the corresponding
0 sequence compensation factor aspect and so that will lead to occurrence of their Zapparent
calculation perspective. So, (Zwmp + Z1pr ) SO these are the three components of current sequence

component.

So to get that, we can see that we subtract this one because we have considered here (Zimp + Z1pF)
laom, SO subtract here and add the same component. (Zomp + Zorr).laom, and then we have

Zyoe (1 + 1,5 +1,0,.) this additional term will be there. So, for this also we did similar things and

therefore, what we did here that we added — (Zipr .laoL ) + (Zopr .laoL ) Of these two terms. So, we

have added these two terms, addition, to what we have found here. This leads to

(ZlMP +ZlPF)(IaM + KOIaOM)+21PF(IaL + KOIaOL)'

. . L,-Z
Note, we have already talked about the 0 sequence compensation factor and that is —2——= of the
1

line and we have considered that all sections are having similar per kilometer impedances for all
sequences. So with this, if we substitute this, then we will get the corresponding relations to be
like this.
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For phase-a-to-ground (ag) fault:

Vau = Varw + Vazw + Vaou

= (Zyup + Zypr) (lay + Koloow)* Zype (Lay, + Kolaor)

[ Vau o+
Capp == Zyyp + Zypp+Zypp —
Y{uw Tty — 2tp + Zaprtlapr o

a+Kol

Case-1: No infeed
N
Zapp = Zuwp + Zipr
Case-2: Infeed current 50% of relay current

(lar+KolaoL) =05
(lam+Kolaow)

Zapp = Zywp + L5Z1pp
Underreach issue

And if you move more further, then the VVm expression, we got this in terms of this Ko. Now if we
. . Vv .
calculate the Zapparent for this relay, for this fault, phase a to ground fault, ——2— | so that if
aM + 0 a0OM
we divide by this term, so this becomes equals to (Zimp + Z1pF), this is the usual term we should
get the (Zwmvp + Zipr), up to this point plus an additional term
Vv

— am —
-7 v ZlMP + ZlPF +

app
IaM + KOIaOM

So this, we are dividing these if you consider by this perspective, this one. So there we have

considered because we have additional term in terms of (1, + K,1I,,, ), so this term is remaining

this one and the Zipr is for this portion, the common portion for the current la. and lam. So, this
leads to like the case of three-phase fault we saw. Now, only that additional term the rest you can
compensation factor is coming here and for that, the two O sequence current and are also the
associated are that the corresponding 0 sequence current at bus L also what is being flowing into

this circuit. So that is also coming to picture in the Z apparent calculation.

So two situations, suppose at one instant there is no infeed, this sources out from operational
perspective, then there will be la. current flowing in this. In that case, this component will be 0,
this part. So, therefore, only these two components will be there. So, Z apparent at that time will

be the (Zimp + Z1pr ) for the fault F, phase a to ground fault at F, so this will be this. Now, suppose



another case with the L source present and let us say consider its contribution is 50 percent of what
the corresponding relay current is being there at that time. So, if we consider this ratio to be 50 %,
0.5, then if we substitute this in the, in our derivation here, if this becomes 0.5, so then Zpr plus
0.5 Zspr gives us 1.5. Zipr. As compared to when the source L is not available.

So as compare to two-terminal equations and related Z apparent calculation, we saw that you can
see that this impedance is now in the presence of the source at L that we call infeed current
contribution. That infeed current you can see that it is 50% then the corresponding apparent
impedance becomes ( Zapp = Z1vp + 1.5 Z1pr ), SO as compared to this apparent impedance this will
be higher, that means that the relay at this will see an under reach issue. We will find it under reach
issue or this kind of infeed, you can see that situation with a distance relay protection perspective.

(Refer Slide Time: 18:44)

Multi-terminal lines
L
Issues: '

b F
+ When there is tap current infeed, Z,; > Z,,, © 13 3 7

+ If zone-1 setting of relay Ry, is 80% of the line length ML, relay may not
operate for many faults in the system.

+ It would be insecure to set zone 1 of the relay to a high value because,
if the tap source is out of service for some reason, faults beyond the

80% point will cause zone 1 operation.

Setting guidelines:
+ Zone 1 setting should be decided without considering infeeds.

+ Zone 2 and 3 are set considering infeeds

In moving further, we saw that you can see that when there is a tap current infeed, the Z apparent
seen by the relay is greater than the actual Z, positive sequence impedance up to the fault point,
from the earlier analysis, we saw. Now if you see, suppose the zone-1 setting is of 80% of the line
ML or so, relay may not operate for many faults. So what will happen here, if we consider this line
MN to be much longer and then if we to go for the zone-1 setting in terms of line from M to L,
shortest distance, then many fault points in the system, because of this, under-reach issue will not

be detected in the zone-1.



That means that if this zone-1 fault happens to be there towards the reach and with the infeed
condition, then the zone-1 will not detect it. It means that will be detected by the other, like zone-
2 or zone-3. So, the zone-2 or zone-3, they detect, then it will be delayed decision. So, that is one
issue and furthermore, if you like, you can see that extend this zone-1 to further like 90%, 95%, or
beyond that to address this infeed, then when these infeed is not there then that may consider to go

beyond this line section MN and that may interfere to the corresponding protections at bus N.

So which is also not desirable from the system security perspective. So, based on this above
observations, we say that there are some guidelines for the protections for the multi-terminal lines,
simple guidelines. The zone-1 setting would be decided without considering infeed. From the
above discussions, it is a general recommendation that zone-1 settings should be as usual without
considering the infeed, so when you are considering the Rm then we do not consider the infeed of
IL for the zone-1 setting. Zone-2 and Zone-3 settings need the consideration of the infeed. Zone-

2 and zone-3 settings need the contribution of the infeed settings.

(Refer Slide Time: 21:24)
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Example: Zone settings for Multi Terminal lines

t
I
24200

M N ) K
B A | 44400 | @
@ > 400 34300 | |

Task: Set the three zones of the relay Ry, assuming I/l = 0.5

Zone 1: This is set equal to 80% of the smaller of the two impedances between buses
Mand N, and M and L. Also, we will consider infeed to be absent for setting zone 1.

Zone 1 setting is: 0.8(4+j40+2+j20) = 4.8+j48 Q

From P, zone-1 will see (4.8+48) —(4+j40)= (.8+j8) Q
For 3-phase fault at the reach : 4+j40+1.5 x (.8+i8) =5.2+]52  Remark Underreach problem
0

So now, we will go, you can see that guidelines are being applied for transmission system having
multi terminals configuration. So, we have considered a system like this, the corresponding T point
or the tap point it is P, one section here, the infeed section from L to P, and then the another section
from P to N. Now for zone-3, we have considered another exam from N to K in an interconnected

power system. But we see here, you can see that this is a multi-terminal line and so, from N also,



for a fault here inside these 3 terminals, 3 sections, from N side also current can flow, from L side

also, and from also M side.

So, the impedance is assigned, positive sequence impedance is available to us is in terms of 2 +
j20, 4 + j40, and 3 + j30 Q and we have another section NK, 4 + j40 Q. This is for a simple
example. The rest task is there to set the 3 zones for the relay Rm which is someone can extend,
you can see that for the relay at L and N also. We will consider maximum the infeed amount is for

this case, for this relay is I./lm =50 %, 0.5 . Now, first, we will consider zone-1.

So for zone-1 as in the guideline, we will consider no infeed issue and then we will go ahead. Now,
this is set equal to 80% of the smaller of the two impedances between buses M and N, M and N,
and M and L. So, what we will see that from this relay whatever, whichever length becomes smaller
and 80% of that will be for zone-1 setting but without any infeed term which we have seen in the
apparent impedance equation. So, for zone-1 setting, we say if you see this from this, for this relay
from the tap point, this path is having smaller impedance, so our zone-1 setting will be 80% of ( 4
+j40) + (2 + j20) . 80% of that that becomes equals to (4.8 + j48 )Q2.

So from P, the zone-1 will see, (4.8 + j48 )- ( 4 + j40) Q, this section. So, only (0.8 + j8) Q
additional impedance up to that portion you can see that from this side to this side, or this side to
this side, it will able to see. For 3-phase fault at the reach, for 3-phase fault at the reach, let us say
at this reach, this is the reach you can see that as per these setting. When I is providing a 50% as
compared to this Im side current, then as we have calculated for the 3-phase calculations that this
will be (4 + j40), 1.5 of this portion, which portion? This section. So, 1.5( 0.8 +j8 ) at the reach
point; so that becomes equals to (5.2 + j52)Q.

So, if we see that this is the setting of the reach, up to reach for the 80 %, but the, at the same reach
point at 80% physical distance, the corresponding 3-phase fault give sequence here, (5.2 + j52).
Here we have not considered any infeed. Here, by considering the infeed as in the 3-phase
calculations, we saw that the corresponding impedance will be this small. So, this is higher than

these, it means that this is will lead to under reach problem.
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Example: Zone settings for Multi Terminal lines

L
e

24200

M N K
B F| 4+400

@‘| 400 P3+30Q 4 | | C
>RM 4440 Q P 34 é

Task: Set the three zones of the relay Ry, assuming I, /ly, = 0.5

Zone 2: This i; set equal to 120% of longer of the two impedances between buses M
and N, and M and L. The infeed will be considered, and will apply to the impedance of
the segment P-N.

Zone 2 setting is: 1.2[4+j40+1.5(3+j30)] = 10.2+j102 Q

Now, next, we will go for consider the zone-2 setting. The zone-2 setting is 120 % or so. We know
the two-terminal line of longer of the two impedances, in this case, multi-terminal line, it will be
120 percent of the longer the two impedances between buses, M and N, and M and L. So, we have
from this relay bus, we will have two sections 1 and 2, and the other one you can see that is the,

this one. So, whichever is the longer out of that, 120 % with the consideration of the infeed.

So for this, what we will do, the zone-3 setting equals to 120 %, so this is 1.2, 4 + j40, fine. And
then have, we can see that longer is this part. So, infeed will be there from this side, so we will
consider this infeed. So, in the Z apparent impedance, if you remember that becomes equals to the
infeed part 1.5 now of all (3 + j30), and then that 120 % of that one. So, 1.2 (4 +j40), this part and
with infeed considerations 1.5 ( 3+ j30). So, this becomes equal to (10.2 + j102) Q for the zone-2
setting.

Note that in zone-2 setting, relay at Rm must address this part and also this part completely so that
no fault in these two, in these two including these two sections can remain unidentified, otherwise,
it will be a protection problem from the primary protection problem and the fault will continue you

can see that from either the, from the M bus side for this design.
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Example: Zone settings for Multi Terminal lines

L
I

24j20Q
i T 44j40Q \
[ 2 P ] %
@’|»R 44400 3%300 | |LO

Task: Set the three zones of the relay Ry, assuming I,/ly, = 0.5

Zone 1: This is set equal to 80% of the smaller of the two impedances between buses
Mand N, and M and L. Also, we will consider infeed to be absent for setting zone 1.
Zone 1 setting is: 0.8(4+j40+2+j20) = 4.8+48 Q

From P, zone-1 will see (4.8+48) —(4+j40)= (.8+j8) Q

For 3-phase fault at the reach : 4+j40+1.5 x (.8+/8) =5.2 452  Remark: Underreach problem
0

Now, we will go for the zone-3 setting for the system. In zone-3 setting, similar to the zone-2,
what you do is that the apparent impedance of the M-N, M-N infeed is (4 + j40 )+( 1.53 +j30 ) up
to this N section. So, this impedance plus considering the infeed (1.53 + j30) for zone-3 also we

will go for the higher length distance. So, this becomes (8.5 + j85) Q.

Now for this section also, because zone-3 has to wake up section N-K also. So, any fault here also
the corresponding infeed current will flow. So, therefore, you can see that we will consider that
the corresponding settings for you can see that (8.5+ j85) up to this endpoint from N-K, for N to
K ,(4 + j40), 1.5 times with consideration of infeed. So that gives you can see that and 120 % of

that, so if you get that, you can see that will come (17.4 + j170) Q, 174 Q.

So, that leads to situation that, we say the zone-3 should take care of this portion as well as this
portion and should ensure that no fault is unidentified in this one, however, zone-3 is a delayed

decision process.
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Example: Study on zone-1 setting in multi terminal line

Line Impedances

2,= 0.024
ll, 7= 0.1064: 6989 (/km

50 km 230 I;V sysle;n
I N
@I X 15 kmFe 285 km ‘i @
P
I%‘J é R\
|
1

L
F 70km | 300 km

For Ry,: Zone-1 setting For Ry:
Zone-1: 08 x (70 +50) X z, = 1.92 +j27.523Q Zone-1: 0.8 x (300 + 50) X z, = 5.6 + j80.276;

Now we will take a case example, simulated example how the zone-1 performs in a multi-terminal
line. In a 230 kV system, we have considered the way we have done a 3-terminal line. So, it has a
50 kilometer here, 70 kilometer this section, and we have a 300-kilometer long line from P to N
section. The 0-sequence and the positive sequence per kilometer impedances are available to us.
Now we will see how the zone-1 setting will be there and then we will assess how good is the

zone-1 setting.

So, the zone-1 setting for that as we have seen the guidelines and simple calculations earlier, for
Rwm relay, the zone-1 setting will be 80% we have considered. So, this is 70 kilometer plus 50
kilometers, shortest (70 + 50), this is the shorted path. So (70 + 50), 120 kilometer into the per
kilometer positive sequence impedance. So, any two 0.8, that 80%; so that gives us (1.92 +
j27.523) Q. So, this corresponds to if we see (70 + 50), 120 kilometer; physical distance, 80 percent
of that is 96 kilometer.

Similarly, for the zone-1 for L, for R-N, not L, for R-N with this infeed for R-N, the zone-1 setting
becomes 0.8( 300 + 50), minimum distance into the corresponding zone-1. That gives is (5.6 +
j80.276) Q.
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Example: Study on zone-1 setting in multi terminal line %
L
F

Phase-a-to-ground (ag) fault in line MN at a distance of 285 km from N

For Ry,: fault at 85 km~Zone-1 fault

[ Volages | Curents | =T

Vi 102.39/-86.45°kV  |,: 2.112-168.62°kA 7

Zapp = ———— = 213 £ j29.840)| )
Vi 131.95/15386°KV | 0.19138.16°%A [ PP I, + Kylgo @

V. 131.8423380°KV |2 0.2016.94°KA Zone-1 setting= 192 + 27,5230 " Outside zone-1

lg: 0.682-17349°kA

Now, we will see for a phase a to ground fault in the system the corresponding zone-1 is good
enough or not. For this, in this system, if phase a to ground fault created at 85 kilometer from bus
M which happens to be in zone- 1, as you have seen this setting, the zone-1 covers physical distance
of 96 kilometer. So, therefore, this fault at F, which is only 15 kilometers from P, this part is 70

kilometer, happens to be in zone-1 fault for Rw.

By creating the phase a to ground fault, the corresponding phasor voltages and the phasor currents
are noted here. So, we see here the corresponding phase a current is much higher than the other
phases. Now, there will be infeed from this side during that moment. The Ko for this situation is
available from the Zo and Z1, (Zo -Z1)/ Za.

This lo, it is you can see, current for this situation is obtained from la, Ib, Ic; so we apply the normal
Z apparent equals to Va /( 1 + Kolo) and we got the impedance to be (2.13 + j29.84 ) Q whereas,
our zone-1 setting for the 80 % of (M P + PL) because P to L is the minimum distance from P
site. So, that gives you (1.92 + j27.523) Q. Now, we see here, even though we have simulated at
85 kilometers, we happens to be in zone-1, the fault is seen outside zone-1. So, that is what we

saw, mentioned earlier also is an issue of under reach, under reach for the zone-1 operation of

distance relay.
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Considering the information on currents of bus-L available ]
ForR,: faultat8skm AtbusL: %
[ Votages [ Curenis | 1 fo=e 10
V,: 10239/-8645°KV  ,: 2.11/-168.62°kA Is: 2612-169.00°KA OF ) d
Vy: 131.95/153.86°KV  y: 0.19/138.16°KA ly: 0.28/146.78°KA r T o [

V. 131.8423380°KV |2 0.20£16.94°KA l;: 0.18219.41°kA

z,= 0.02+0.2867 Q/km

l;: 0.88£-173 81°KA K, = 1.9310-0.1667

lo: 0.68-173 49°KA

(lag+Kolao) (Tar+KolqoL)
Zymp + Zapp+lipr 2 =(1024)4{1524) + (15 24 m]

=213 +29.840

Vo

b M
N la + K(JlaD

Now, we will see that the apparent impedance which you have derived for the phase a to ground

fault, that is, that can be validated if you know the corresponding bus L, the infeed currents which

we have noted here. 3 phases current at bus L, during that same fault corresponding zero sequence

component of current. So, we have already derived these for the phase a to ground fault;
I, + Koo

Zive +Zipe + Lipe | K| .
av T Rolaom

So in this relation, if it we substitute this current then, and the different impedances, then we have
got the corresponding impedance to be (2.12 + j29.77) Q. And that is what we got from the Z
apparent impedance calculation Va /( l. + Kolo). So this says, so is that our Z apparent impedance
calculation is correct. So, what you found from this example is that for this case, that this zone-1
under reaches because of infeed issue and we cannot extend this zone-1 to larger also because
when the infeed is not there, it may create problem to for the other bus relays and so, in the zone-
1 point.



(Refer Slide Time: 34:28)

Remarks-

+ Muti-terminal lines impose challenges to distance relay
+ More the infeed — more underreach issue E

+ The infeed position also decides the amount of underrech

+ Maximum infeed should be used in settings 2

+ Relay should operate properly even for without infeed condition

So in overall, we see that multi-terminal lines is a challenge for protection, particularly, for
distances relay we saw here even through examples also. More infeed, more under reach, further
the position of this infeed is also a factor in the amount of under reach issue, particularly for zone-

1, of course, zone-2 and zone-3 also have also under reach issue.

While settings for different zone-2 and zone-3 particular, the maximum infeed should be
considered, but note that there at an instant infeed may not be there, even at that time also the
protection scheme should function properly. So in overall, we saw that the challenges are more as
compared to the two-terminal line case for this configuration of transmission system of 3-terminal

lines. Thank you.



